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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) What do you understand by the term „hybrid 

orbital‟ ? Give geometry of the following :  

(i) 3
s p   

(ii) 2
sp   

(iii) sp 

ladfjr d{kd ls vki D;k le>rs gSa \ fuEufyf[kr 

dh T;kferh; dk o.kZu dhft, % 

(i) 3
s p   

(ii) 2
sp   

(iii) sp 

(b) What is Carbocation ? Describe the geometry of 

electron deficient carbon of carbocation and give 

details of its stability.  

dkcksZdSVkbu D;k gS \ dkcksZdSVkbu esa bySDVªkuksa dh 

deh ;qDr dkcZu dh T;kferh dk o.kZu dhft, rFkk 

blds LFkkf;Ro dh foLr`r tkudkjh nhft,A  

2. (a) Explain Markonikoff rule and anti-Markonikoff 

rule with suitable example.  

ekdksZuhdkWQ o ,UVhekdksZuhdkWQ fu;eksa dks mnkgj.k 

nsdj le>kb,A  
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(b) Give two methods of preparation of alkyl halides. 

What happens when 1 bromopropane is treated 

with alcoholic KOH ?  

,fYdy gSykbM cukus dh nks fof/k;k¡ nhft,A D;k 

gksrk gS tc czkseksizksisu ,YdksgkWfyd KOH ls vfHkfØ;k 

djrk gS \  

3. Write short notes on the following :  

(a) R and S nomenclature for optical isomer  

(b) Free radicals  

(c) Hydrogen bonding  

(d) Newman projection and Sawhorse formulae 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ R ,oa S ukedj.k ¼izdkf’kd leko;o gsrq½ 

¼c½ eqDr ewyd  

¼l½ gkbMªkstu cU/k  

¼n½ U;weSu vuqd`fr ,oa lkSgklZ lajpuk lw= 

4. (a) What is Optical Isomerism ? What are the main 

characteristics of optically active compound ? 

Explain with suitable example.   

izdkf’kd leko;ork D;k gksrh gS \ fdlh ;kSfxd }kjk 

izdkf’kd leko;ork iznf’kZr djus ds fy, D;k&D;k 

xq.k gksus pkfg, \ mnkgj.k nsdj le>kb,A  

(b) Discuss the mechanism of nitration and Friedel- 

Crafts reaction in benzene.    

cSUthu esa ukbVªhdj.k rFkk ÝhMy&Øk¶V izfrfØ;kvksa 

dh fØ;kfof/k dk o.kZu dhft,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the inductive effect leads to the development 

of partial charges while the electromeric effect causes 

full positive and negative changes.  

O;k[;k dhft, izsjf.kd izHkko eas vkaf’kd vkos’k mRiUu gksrk 

gS tcfd bysDVªksesfjd izHkko esa bdkbZ /kukRed o _.kkRed 

vkos’k mRiUu gksrk gSA  

2. Write short notes on the following :  

(i) Homolytic and heterolytic fission  

(ii) Electrophiles and nucleophiles  

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) lEcU/k ,oa fo”kecU/k foPNsnu 

(ii) bysDVªksQkby ,oa U;wfDy;ksQkby  

3. Give two methods for the preparations of large ring 

cycloalkane.  

cM+s lkbDyks,Ydsu cukus dh nks fof/k;k¡ fyf[k,A  
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4. Assign R or S configuration to the  

following : 

(i) 

2

C H O

|

H O HC

|

C H O H

    

(ii) 

C l

|

B r C O O HC

|

H

    

(iii) 

3

O H

|

H O O C C H

|

C H

   

(iv) 

3

C l

|

B r C H

|

C H

     
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fuEufyf[kr esa ls R ;k S foU;kl nhft, % 

(i) 

2

C H O

|

H O HC

|

C H O H

    

(ii) 

C l

|

B r C O O HC

|

H

    

(iii) 

3

O H

|

H O O C C H

|

C H

   

(iv) 

3

C l

|

B r C H

|

C H

     

5. Explain the following :  

(i) Unimolecular and bimolecular elimination 

reactions  

(ii) Dehydration of alcohol with mechanism  
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fuEufyf[kr dh O;k[;k dhft, % 

(i) ,dv.kqd o f}v.kqd foyksiu fØ;k,¡ 

(ii) ,YdksgkWy ds futZyhdj.k dh fØ;kfof/k 

6. (a) State Huckel rule of aromaticity and explain  it 

with two examples.  

,jkseSfVd ds gdy fu;e dh O;k[;k dhft, ,oa bls 

nks mnkgj.kksa dh enn ls Li”V dhft,A 

(b) Why do o and p directing groups usually activate 

the ring ?   

lkekU;r% vkWFkksZ ,oa iSjk nSf’kd izHkko ds lewg cSUthu 

pØ dh lfØ;rk c<+k nsrs gSa] D;ksa \ 

7. (a) Write a note on Walden in version.  

okYMu izfrykseu ij ,d fVIi.kh fyf[k,A  

(b) What is a haloform reaction ?  

gSyksQkWeZ fØ;k D;k gS \ 

8. Write a short note on the synthesis of DDT and BHC.  

Mh- Mh- Vh- o ch- ,p- lh- ds la’ys”k.k ij ,d laf{kIr 

fVIi.kh fyf[k,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. No bond resonance is termed as inductive. 

 (True/False) 

fcuk cU/k ds vuqukn dks izsjf.kd izHkko dgrs gSaA  

    ¼lR;@vlR;½ 

2. Which of the following is not a nucleophile ? 

(a) 3
N H   

(b) CO 

(c) 2
C O   

(d) 2
H O   

fuEufyf[kr esa ls dkSu&lk U;wfDy;ksQkby ugha gS \ 

¼v½ 3
N H  

¼c½ CO 

¼l½ 2
C O  

¼n½ 2
H O  

3. Propyl carbonium is ........... stable than allyl carbonium 

ion.  

izksfiy dkcksZfu;u vk;u ,fyy dkcksZfu;e vk;u ls 
--------------

 

LFkkbZ gSA 

4. The highest boiling point is expressed for :  

(a) Iso-octane  
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(b) n-octane 

(c) 2, 2, 3, 3-Tetramethyl butane  

(d) n-Butane  

mPpre DoFkukad dh mEehn dh tkrh gS % 

¼v½ vkblksvkWDVsu ls 

¼c½ n&vkWDVsu ls 

¼l½ 2] 2] 3] 3&VsVªkesfFky C;wVsu ls 

¼n½ n&C;wVsu ls 

5. The reference molecule for D. L. configuration is 

.............. 

DL foU;kl ds fy, lUnHkZ v.kq ------------------ gSA 

6. The compound which is not isomeric with diethyl ether 

is :  

(a) Methyl propyl ether  

(b) Butanol  

(c) 2 methyl 2 propanol  

(d) Butanone  

;kSfxd tks Mkb,fFky bZFkj dk leko;oh ugha gS % 

¼v½ feFkkby izksfiy bZFkj  

¼c½ C;wVsuksy  

¼l½ 2 feFkkby 2 izksisukWy 

¼n½ C;wVsuksu 
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7. Conversion of propyne into acetone is an example  

of ............. 

izksikbu ls ,lhVksu dk cuuk 
-----------------

 dk mnkgj.k gSA  

8. Reductive ozonolysis of but-2 ene yields two moles of 

acetone.   (True/False) 

C;wV&2 bZu ds vipk;d vkstksuksykbfll ls nks v.kq ,lhVksu 

curs gSaA   ¼lR;@vlR;½ 

9. The electrophile in aromatic nitration is : 

(a) Nitronium ion  

(b) Nitric ion  

(c) Nitrinium ion 

(d) Nitrate ion  

,jkseSfVd ukbVªhdj.k fØ;k esa bysDVªksQkby gS % 

¼v½ ukbVªksfu;e vk;u 

¼c½ ukbfVªd vk;u 

¼l½ ukbfVªfu;e vk;u 

¼n½ ukbVªsV vk;u 

10. In 1
N

S  mechanism rate of reaction depends upon the 

concentration of nucleophile. (True/False) 

1
N

S  fØ;kfof/k esa fØ;k dh nj U;wfDy;ksQkby dh lkUnzrk 

ij fuHkZj djrh gSA   ¼lR;@vlR;½   
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